F #£ 2 2 £ XK ¥
o # B AR E Y M

24

(=3
B

#

TR EorEE
ZOWENT, RBERGEHR NI OfRICESE | ERLTOET,

SF-E‘ZZ 6E8 AN (Em224K%)
woa & X 103. 1
[ A ke (+) O0. 0%
B E R A (+) 3. 3%

SER265E9 A 26H

EHTFOMEERIT, Y2284 100L1LT103. 1&40, giH CEK2647H) @
103. 1LFAHE, FIERA CEER254F8H) @99. 8LH~_T3. 3%DLHER-T-,

Eﬁﬁ%%%<%éﬁﬁmloz.5&@D\%H@102.6&w&f%o.2%®Tﬁ\%¢
FHAD9 9. 4LH~_T*3., 0%D LHLR-T-,

N A S A S A A S S S L S S S S S S S S . S = S . L S S . — —a— &

ks (BH b, ATERA B 1E, PR 2 2 EEMENREWIHE D O MR ORIC LV F STV ET,
2 HEADMEEROER

DN

104

103

102

101

100

99

98

97

M1 HEED@EER(RE) OB (EHM. £E) (H22=100) 6o
103.6 '
e AT E A L (183 ) CXMAIER AL (2E) AR
i - 5.0
R = F i TF 1T S — S EES 103.1
I - 4.0
[:01}
i F
- 3.0
[a]
A
I r 20 tt
ﬂﬂﬂ [| 10 2
hﬂﬂﬁﬁﬂﬂﬂﬂpfﬂ - 00
. - -1.0
-2.0
8 9 101112 1 2 3 4 5 6 7 8 9 101112 1 2 3 4 5 6 7 8
s 254 265 A
L4 M2 BATDIERHE) DHER (H22=100)
103 - a2 —— M5
102 -
101
100 -
99 -~
98
1 2 3 4 5 6 7 8 9 10 11 12 R
104 X3 fRHATOREH(EHEREREE) DR (H22=100)

--------- F 2445 FR25F  —a— FR265F

102 M
100 - o /

98




3 BIALDEE

BEREORI A LR0.0% TRIKAEL 2o -NRE T GETHDL L, TR BLO My N EH L,
AR V@Y ] B L O 555 - 5] R TFHELTWD,
&1 1OKXKEBEH. ALBLIUVFTEE (H22=100)
ot ENES Hwk % A2 pGA
@ el omle  m - e ol BT e wlE e omew
7K Elx=ERLE LYl B Bt = a
R 103. 1| 106.0 97.9[ 114.0 93.7 98.5 99.8( 107.9] 102.7 93.0[ 110.0
H'Jéz)tt 0.0 0.4 A 0.1 A 0.2 0.2| A 2.6 0.2| A 0.4 0.0 0.7 0.3
| 5 D 0.11] A 0.02] A 0.01] 0.01[A 0.10] 0.01[A 0.06] 0.00[ 0.07] 0.02
EO1) BEHEE. RATERORALICET 5 50T,
0) FHHEEE, TR 2 2 EREN B SIS S . IR O L A ST E T,
80 ZEHOMAOEBES K U( ) AN
BEEERLTLS,
6.0
B RE-REALR RRER B pa
B 4.0 ©.11) (0.01) (0.01) s (007) HHE
A (0.00) (0.02)
He 2.0 l l l l
1 ‘ A A I
0.0 '
s 20 b \ \ 1
A 40 (A0.02) OB UmY  (A006)
(A0.10)
A 6.0
0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000
ZFEBDOIA b+
[(MAEHEMORIAEIZHFEL=-ERNER]
10K# H hoyE, wiA b (FSE) mnE, #iH (5 E)
7
BH ARERY) 8.2% (0.07)
HBWIRE AR —E 2 1.8%(0.10)  eeees fE Tk 10.6%(0.11)
%
HREUVEYD XV e—H2—¥H A5.1% A0.04)
3ZE-EE FEh B R A0.5%(A0.05) reres VU A1.4% A0.05)




4 ATERAEDHER

WMEREORIER A HN3.3%D FR Lo T-NiREFHETLD &
HCTERLTWD, E0biF R . 758 @3] .

(Y20 - KIE] |

(B & V@Y ) T BRN o3 T D
[BAIRIE ] OFGENRE W,

A

&2 10KXREBEHR. ERALBLIUVFTEE (H22=100)
it ENES IERET7 AR 2 b
w el omle  m - -l oolf B g wlE Slw o
7K Elx=ERLE LY M Bl = _
R 103. 1| 106.0 97.9[ 114.0 93.7 98.5 99.8( 107.9] 102.7 93.0[ 110.0
A4
6 A ke 3.3 4.9 0.6 5.1 4.1 A 0.1 1.3 2.7 5.3 4.0 5.0
(%)
| H5E I 131 o.10]  o0.41] o.12] o0.00] o0.07] 0.44 o.16] o0.40] o0.31
E1) BEHEE. RAEKONERALICHT 5 b0 T,
2) FHEEX. TR 2 2 RN B ISR D . EULE RO EIC L E STV ET,
14.0 M5 10KXEHEHDIERALSIVFSE (H22=100)
' FEROWNANEESLU( ) ALAFS
120 EFERLTLAS,
10.0 B Hah 3R -
' (1.31) KaE B (0.44) wE #&%ﬂb;‘?&é
FE A& (040) M
8.0 (0.41) (0.16)
G35 (0.12) ‘ (0.31)
S 60 010 l REZESR | |
3 ' ¢ AR % (0.07) —
& 4.0 V@Y
)= | (0.00)
k. 2.0 ll_
% 0.0 b
A 20
A 40
A 6.0
0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000
B2EBDYIA+
[(MREEBOIIERBEIZHESLE-EHAR]
10Kk# H 3R, miAER A b (S5 E) fn B, BIAER A B (35 )
ER7
BH AfEfA 11.4% (0.18)
X EE HE SRR E 2.7%(0.29)  rees TV 5.4%(0.20)
& KE B 4.8%(0.19)
- PRI —E 2 3.7%(0.21) e EFEEAREE 21.2% (0.02)
e D MR 7.4%(0.16)  eeees R oRE 10.1%(0.16)
HE BRI 2.0%(0.040) 0 eeess INST RS 3ERE 523.6%(0.02)
RE-REAR FREFM /AR 11.5%(0.10) «x=== RS (Ve e i) 37.4%(0.01)
FrE RABIERE - HEFF 2.5%(0.08)




5 10KXKEH

B

=3
Jegh-KiE
RE-RERM
BREVEY
RIEER

K@ EfE
£

HEIRE
EHE

-12.0

X6 10KEBAERDALLEIUXEIER AL

26 [

BRIERIAL ORTALE

-10.0 -8.0 -6.0 -4.0

X7 10K%E B RlIEHDH#FE (H22=100)

115
110 r
105 r

100 R Ny w—/\—/}\-"’

8 #

95
90 r

85

25/8 26/8

115
110 ¢
106
100

T B

95 r
90 -

85

25/8 26/8

115
110 r
105 r
100

SeEh - IKE

95 r
90 r

85

25/8 26/8

115
110 r
105 r

Nt
Jm
N
Ht
H
Bn

100

% 0—F4~«/\\—+4\.—r4\,,yd~4/+4//\‘\¢/h*\‘~r4
90 r

85

25/8 26/8

115
110 -
105 r

WRKRVEY

100 [“—=—

95 r
90 -

85

25/8 26/8

115
110
105
100
95
90
85

24/8 25/8 26/8

115
110
105
100
95
90
85

115
110
105
100
95
90
85

115
110
105
100
95
90
85

115
110
105
100
95
90
85

3338 - i {

i

24/8 25/8 26/8

24/8 25/8 26/8

HERE

24/8 25/8 26/8



6 #EtE

£3 10KXEBHEHGEEHT)

= A |8 & ol e | SR T | PR e
2 2 YY) 100. 0 100. 0 100. 0 100. 0 100. 0 100. 0 100. 0
2 34 99. 2 99.9 99. 8 103. 2 94.3 96. 8 99. 1
2 44N 99. 4 100. 9 98. 4 105. 4 92. 8 99. 7 98. 6
| _ 25 | 99.6 ____10L3____ ¢ 971.6_ _ __107.5 _ _ __ 90.3 ____99.4____ ¢ 98.2
Fk2 44 1 H 99. 4 102. 1 98.9 104.3 94.5 97.0 98.2
2 A 99.5 101. 4 98.9 104. 94. 1 98.5 98.5
3H 99.9 101.9 98. 6 104. 8 94. 7 99. 4 98. 6
4 A 99.9 101.6 98.5 105. 6 92.8 100. 3 98.7
5H 99.9 101.6 98.5 105.5 91.6 100. 2 99. 2
6 H 99. 4 100. 2 98.5 105. 5 92.8 100. 5 99.5
7 A 99. 0 99. 8 98. 4 105. 4 92. 8 100. 4 99. 4
8 H 99. 3 100. 4 98. 4 106. 1 91.6 100. 5 99. 3
9 A 99. 1 99.9 98.3 106. 8 92.0 99. 2 98. 1
104 99. 2 100. 4 98. 3 106. 2 91.9 99.5 98.0
114 99. 0 100. 8 98.0 105. 0 91.7 99. 98.0
124 99. 1 100. 9 98.0 105. 0 93. 4 100. 6 97.7
Rk 2 54 1 H 99. 3 102. 1 98.0 105. 5 90. 8 100. 3 97.9
2 A 99. 2 101. 1 98. 106. 1 90. 8 99.0 97.8
3 A 99. 2 100. 6 98.0 106. 3 89. 6 100. 97.7
4 A 99.5 101. 2 98.0 106. 2 89. 4 100. 4 98. 1
5H 99. 3 100. 6 97. 4 107. 0 89. 2 100. 4 98.7
6 A 99. 1 99.9 97. 4 107. 6 89. 7 100. 4 98. 8
7H 99. 3 100. 6 97. 4 108. 0 89. 1 100. 0 98.7
8 A 99. 8 101. 1 97. 4 108. 5 89.9 98. 6 98.5
9 H 99.9 102.0 97. 4 108. 6 90. 8 98. 6 98. 4
10K 99.9 101.5 97.2 108.7 91.0 98.5 98. 4
114 100. 0 102. 4 97.2 108. 4 91.9 98.0 97.7
124 100. 1 102. 6 97.2 108. 6 91.9 98.0 97.5
T2 64 1 H 100. 5 103.7 97.2 109. 2 95. 1 97.8 97.6
2 A 100. 2 102. 5 97.2 109. 3 94.3 97.6 97.7
3H 100. 3 102. 8 97.3 109. 4 92. 7 98.8 97.9
4 A 102. 8 106. 1 97.8 110. 1 95. 6 100. 7 99. 6
5H 103. 4 107. 1 97.8 114.3 95.5 101.0 99. 6
6 A 102. 9 105. 4 97.8 114. 4 93.9 101. 0 99. 4
7 A 103. 1 105. 6 98.0 114.2 93.5 101. 1 99. 6
8 H 103. 1 106. 0 97.9 114.0 93.7 98.5 99. 8
9 A
104
11AH
12H




2 24(20104)=100

e ‘ TR (B A
e

100.0 100. 0 100.0 100. 0 100.0 100. 0 100.0 100.0 201 0Ty

101.1 97. 2 90. 6 104. 7 102. 3 99.0 99. 1 98.0 201 187y

102. 1 97. 4 89.5 104. 6 108.0 99. 1 99. 6 97.5 201 28y
| 1039 ____ 97.5 ____88.0___ _105.4____1U.0 ____ 9.1 _____ 99.9 _____ 97.0|_ 2.0 1 BAETH_
101.5 97.2 88.5 104. 9 118. 4 98. 8 99.5 97. 4 20124 14
101. 3 97. 2 90. 6 105.0 114. 3 99.0 99.7 97.8 2 H
102. 2 97.2 91.0 104. 8 114. 1 99.4 100. 1 97.8 3 A
103. 2 97. 4 90. 5 104. 7 109. 3 99. 6 100. 2 97.8 4 H
103. 2 97.4 90. 4 104.7 113.1 99. 4 100. 2 97. 7 5 H
102. 5 97. 4 89. 3 104. 8 100. 9 99. 3 99.5 97.6 6 A
101. 2 97.4 89.0 104. 8 100.9 98.9 99.1 97.5 7 H
101. 2 97. 4 90. 5 104. 8 102. 5 99.2 99.5 97. 7 8 A
102. 2 97. 4 89.0 104. 2 98.9 99.1 99.2 97. 2 9 H
102. 5 97. 4 89.0 103. 8 103.9 99.0 99.4 97.2 10AH
101. 7 97. 4 88. 5 104. 3 108. 1 98.7 99.2 97.0 11H
102. 1 97. 4 87.8 104. 1 111.6 98. 6 99. 3 97.0 12AH
102. 1 97. 4 87.7 103. 9 119. 2 98. 6 99. 6 96. 8 20134 14
102. 6 97. 4 87.6 104. 1 109. 1 98. 8 99. 4 96. 7 2 A
103.1 97. 4 87.4 104. 9 108.9 98. 8 99.4 96. 8 3 A
104.0 97.5 88. 2 104.9 111.1 99.1 99. 8 97.1 4 A
104. 1 97.5 87.5 105. 1 109. 3 98.9 99. 6 97.0 5 A4
103.5 97.5 87.4 104. 8 103.9 98.9 99. 4 96.9 6 A
104. 3 97.5 87.3 105. 1 108. 3 99.0 99.7 96.9 7 H
105.0 97.5 89. 14 104. 7 109. 8 99. 4 100. 2 97. 2 8 H
104. 9 97.5 88.2 104. 9 114. 6 99.4 100. 4 97.0 9 A
104. 6 97.5 88. 8 107. 4 111.0 99. 5 100. 4 97. 2 10H
104. 1 97.5 88.7 107.5 113. 4 99. 6 100. 5 97.2 114
104. 1 97.5 88. 3 107. 4 113. 4 99. 6 100. 6 97.0 12AH
104. 2 97.5 88.2 107. 3 120.0 99. 8 101.1 97.2 20144 14
104. 1 97.5 88. 5 107.5 115. 99. 6 100. 7 97. 2 2 A
104. 2 97.5 88. 6 107. 7 116. 1 99.7 100. 8 97.3 3 A
107. 2 102. 2 92.3 110.0 123. 3 102.0 103.6 99.4 4 H
107.7 102.7 91.9 110. 2 126.9 102.5 104. 4 99.5 5 H
107.5 102. 7 92.2 110. 1 116. 7 102. 4 103. 8 99.3 6 A
108. 3 102.7 92.4 109. 6 115.9 102. 6 104.0 99.5 7 H
107.9 102. 7 93.0 110.0 120. 6 102. 5 104. 0 99.4 8 H
9 H
10AH
11A4
124




F4 hofEIER(EHT)
Rk 2 6 4E8 A%
R%224F (20104E) =100
Al A |aisERA A A |aiER A
2 H B kas|s e x| & H R IEEC S NERE A
(%) (%) (%) (%)
W & 103. 1 0.0 33 IR E O E WY 98.5 | -2.6 [ -0.1
AR B B A 1025 -0.2 3.0 P BH 97.0| 3.3 | -1.6
FREOIFRBEFEZRBAE] 104.0 0.0 3.8 i ARl 108.4 0.0 0.0
REORBEFELOERMELZRIRBE 103.3 -0.1 3.5 ﬁé H& 96.9 -3. 4 -1.6
o (EEaR<O ro=irx—sr<sl 99,4 [ 0.1 2.3 Y e —x— . FaEE 9.1 2.7 -1.8
oy Y - & — & —¥ 96.1[ 51| -4.0
A p 8 106.0 0.4 4.9 T = ¥l 105. 2 2.0 2.6
£ it & i " 120.6 4.1 9.9 & 7 $a| 108.3 0.0 8.3
EEAE R R B < & B 103.8 ] -0.2 4.0 fih %) fﬁ);tz AR | 85.3 | -4.6 | -0.4
ok B8 o Y — v x| 102.9 0.0 2.8
= [ 100.4 | -0.6 3.1
A A ¥ 135.9 3.0 1223 4% BB E K 99. 8 0.2 1.3
£ A 4| 153.8 3.6 | 11.4 B - fEEER B HEm R 94.7 | -0.2 ] -0.1
Al [ 109.6 3.0 6.2 = E R R ol H| 103.1 1.3 5.1
#L 1o FH| 102.8 0.9 6.9 7 E O 9 — v A| 101.3 0.0 0.9
T - F | 102.5 0.7 6.4
e w3l 97.6 2.4 01 @ - B 18 107.9 | -0.4 2.7
LA | 118.3 7.9 | 12.1 0 W[ 110.8 0.7 8.4
e = | 118.4 8.2 12.0 Bo® Bo% B % | 1117 -0.5 2.7
W 3 mk o 98.3 | -0.4 5.3 i) 2l 98.0 | -0.5 0.6
B - #l 99.5 | —0.2 1.3
B il oy glo104.2 | 1.3 4.6 (% a5 102. 7 0.0 5.3
ik BH 98.6 | -1.2 | -0.8 = 3 B 5l 98.6 0.0 2.0
M MWl o97.7 | -L.6 2.7 HEE - 2H BB HM 109.5 0.0 1.3
248 £ 106.1 | -0.3 3.6 i E # #Hl 116.1 0.0 | 16.9
1* & 97.9 | -0.1 0.6 | & M = 93.0 0.7 4.0
REORBFEZRER  99.8 0.0 1.6 Ho&E OO OH W A M| 52.3 | 41 1.3
BoOo&R OB\ K M 92,9 0.1 7.0
3 O 97.1] -0.2 0.1 = o oo B ORI | 104.4 0.1 3.1
BREORBEEER<EE| 9.8 0.1 [ -0.5 #o#&E o ¥ — v x| 101.9 1.8 3.7
oo s RE - ME EE| 10107 0.1 2.5
# e = 110.0 0.3 5.0
X & - K E 114.0 | -0.2 5.1 BoE R ¥ — v x| 104.7 1.4 4.1
=5 = £ 112.2 | -0.3 4.8 moE KT A gl 96.4 0.3 2.9
5 A [ 118.8 | -0.2 7.9 o | v B M 117.4 | -0.4 4.1
1t %) i #| 136.2 0.0 3.9 a [ Z| 131.6 0.0 4.2
= F Ak @ EH 102.9 0.0 2.9 o 3 Me B 114.0 0.0 7.4
XE-ZEMHM 93.7 | 0.2 4.1 IR
% pgE O W oA B 84.7| -1.4] 11.5 — x A ¥ — Y 121.0| -0.7 5.5
=N % i s 80.4| 2.0 6.5 % & B 1% #| 102.6 0.0 3.9
= H ¥l 100.6 2.7 6.9 oE Omo% B3 % | 93.6 0.8 3.9
£ = e 12| 107.8 | 0.3 1.0 B W om E B & B 99.0| -0.4 1.1
¥ #HOH W R S| 93.7 3.0 -0.9
% FH ¥ — v z| 101.7 0.0 2.7
1) EfEfas, EREEIE. EREEY
2)  ERA. BHTA, TR ATHEO VY v




#*5

> AN
>
v 3

ERDOHER

4 it JI: sl
% e MR AR % TN sl (R I ey (M AR
1 4% 101. 0 - 0.9 100. 0 - 0.9 100.8 - 1.7
1 548 100. 7 - 0.3 100. 1 - 0.1 100. 2 - 0.6
164 100. 7 - 0.0 100. 2 - 0.1 100. 6 - 0.4
1 74 100. 4 - 0.3 100. 9 - 0.7 100. 9 - 0.3
1 84F 100. 7 - 0.3 101. 1 - 0.2 101.2 - 0.3
1 94 100. 7 - 0.0 100. 9 - 0.2 101. 0 - 0.2
2 04 102. 1 - 1.4 102. 4 - 1.5 102. 4 - 1.4
o 14 100. 7 - 1.4 101. 0 - 1.4 101. 4 - 1.0
2 24 100. 0 - 0.7 100. 0 - 1.0 100. 0 - 1.4
2 34 99.7 - 0.3 99. 4 - 0.6 99. 2 - 0.9
o 44 99.7 - 0.0 99. 4 - 0.0 99. 4 - 0.2
2 54 100. 0 - 0.4 99.5 - 0.1 99. 6 - 0.2
R 2 441 A 99.6 0.2 0.1 99. 4 0. 0.2 99. 4 0. 0.5
2 A 99. 8 0.2 0.3 99.5 0. 0.3 99. 5 0. 0.5
3 100. 3 0.5 0.5 100. 0 0. 0.6 99. 9 0. 0.6
4 f 100. 4 0.1 0.4 100. 2 0. 0.4 99. 9 0. 0.7
5 A 100. 1 0.3 0.2 100. 0 0. 0.2 99. 9 0. 0.7
6/ 99. 6 0.5 0.2 99.2 0. 0.3 99. 4 0. 0.2
7 A 99. 3 0.3 0.4 98.8 0. 0.5 99. 0 0. 0.1
8 Al 99. 4 0.1 0.4 99. 1 0. 0.3 99. 3 0. 0.3
9 A 99. 6 0.1 0.3 99.2 0. 0.2 99. 1 0. 0.2
10H 99. 6 0.0 0.4 99. 1 0. 0.3 99. 2 0. 0.3
11H 99. 2 0.4 0.2 98.8 0. 0.2 99. 0 0. 0.1
12H 99. 3 0.0 0.1 98.9 0. 0.0 99. 1 0. 0.1
SR 2 54E 1 A 99. 3 0.0 0.3 99.0 0. 0.4 99. 3 0.3 0.1
2 99. 2 0.2 0.7 98.9 0. 0.6 99. 2 0.2 0.4
3 99. 4 0.2 0.9 99.0 0.0 1.1 99. 2 0.0 0.7
4 f 99. 7 0.3 0.7 99.3 0.4 0.8 99. 5 0.4 0.4
5 A 99. 8 0.1 0.3 99.2 0.1 0.8 99. 3 0.2 0.6
6 1 99. 8 0.0 0.2 99. 1 0.1 0.1 99. 0.2 0.3
7 A 100. 0 0.2 0.7 99.3 0.2 0.6 99. 3 0.3 0.4
8 ] 100. 3 0.3 0.9 99.7 0.3 0.5 99. 8 0.5 0.5
9] 100. 6 0.3 1.1 100. 1 0.4 0.9 99. 9 0. 0.8
10H 100.7 0.1 1.1 100. 0 0.0 0.9 99. 9 0. 0.7
11/ 100. 8 0. 1.5 100. 1 0.0 1.3 100. 0 0. 1.1
12f 100.9 0. 1.6 100. 0 0.0 1.1 100. 0. 1.0
SRR 2 6 4F 1 100.7 0.2 1.4 100. 2 0.2 1.3 100.5 0.4 1.1
2 A 100. 7 0.0 1.5 100. 2 0.0 1.3 100. 2 0.3 1.0
3 A 101. 0 0.3 1.6 100. 4 0.2 1.4 100. 3 0.1 1.2
4 f 103. 1 2.1 3.4 102. 8 2.5 3.5 102. 8 2.4 3.2
5 A 103.5 0.4 3.7 103.3 0.4 4.1 103. 4 0.6 4.2
6 A 103. 4 0. 3.6 103. 2 0.0 4.1 102.9 0.5 3.9
7 A 103. 4 0.0 3.4 103. 3 0. 4.0 103. 0.2 3.8
8 A 103. 6 0.2 3.3 103. 6 0. 4.0 103. 0.0 3.3
9 A
10AH
114
12AH




EFH22F(20108F)=100

N

.

=4 (L i 4 N i
o | wmeey | MERL g | wnseey  [MOE AR

102. 0 - -1.1 101. 1 - -0. 6 200 24
101.6 - -0.4 100. 7 - -0.4 200 34
101.5 - -0.1 100. 2 - -0.5 200 44
101.5 - 0.0 100. 2 - 0.0 20054
101.3 - -0.2 99.9 - -0.3 200 64
101. 4 - 0.1 100. 3 - 0.4 200 7%
102. 6 - 1.2 102. 4 - 2.1 200 84
100. 9 - -1.7 101. 4 - -1.0 200 94
100.0 - -0.9 100.0 - -1.4 20104
99. 7 - -0.3 99. 2 - 0.8 201 14
99. 6 - -0. 1 98. 6 - 0.7 20124
99. 6 - 0.0 98. 6 - 0.0 20 1 34
99. 6 0.1 -0.2 98. 7 0.0 0.2 20124 1H
99. 9 0.3 0.4 98. 6 0. 1 0. 4 2 A
100. 4 0.5 0.8 99. 1 0.5 0.2 3 A
100. 4 0.1 0.4 99.5 0.4 -0.1 4 H
100. 2 -0.2 0.1 99.0 -0.4 -0.4 5H
99. 3 -0.9 -0.5 98. 7 -0.4 -0.9 6 H
98.9 -0.4 -0.8 98. 1 -0.6 -1.2 7 H
99. 1 0.2 -0.6 98. 2 0.2 -1.2 8 H
99. 4 0.3 -0.3 98. 4 0.1 -1.0 9 H
99.5 0.1 -0.4 98. 3 -0.1 -1.0 104
99. 2 -0.3 -0.3 98. 1 -0.2 -0.7 114
99. 3 0.1 -0.1 98. 1 0.1 -0.6 128
99. 4 0.0 -0.2 97. 8 -0.4 -1.0 2013414
99. 1 -0.3 -0.8 97. 8 0.1 -0.8 2 A
98. 8 -0.3 -1.6 98.0 0.2 -1.1 3 H
99.5 0.8 -0.9 98.5 0.5 -1.0 4 H
99. 3 -0.3 -1.0 98.5 0.0 -0.5 5H
99. 4 0.1 0.1 98. 6 0.1 -0.1 6 H
99. 6 0.2 0.8 98. 3 -0.3 0.2 7 A
99. 8 0.2 0.7 98. 8 0.5 0.5 8 H
100. 2 0.4 0.9 98. 9 0.1 0.5 9 H
100. 1 -0. 2 0.6 99. 2 0.2 0.9 10H
100. 1 0.0 0.9 99. 2 0.0 1.1 11H
100. 2 0.1 0.9 99. 3 0.2 1.3 12H
100. 2 0.0 0.8 99. 1 -0.3 1.4 2014414
100. 4 0.2 1.3 98. 9 -0.2 1.2 2 A
100. 5 0.0 1.7 99. 2 0.3 1.2 3 H
103.0 2.5 3.4 101.5 2.3 3.0 4 H
103.4 0.5 4.2 102. 1 0.6 3.7 5 H
103.4 0.0 4.0 102. 1 0.0 3.5 6 H
103.6 0.2 4.0 102. 0 -0.1 3.7 7 H
103.7 0.1 3.9 102. 4 0.4 3.6 8 H
9 A

104

114

124




x6 BAHEEMB FH/NEME

B %‘% i L e
8A A % %
5 A b Kk |EWNE, K, Rk GERL, SR OEFRR—Db0), $8AD (5kg AV), =AY ) 14 2,164 2,165 0.0 -2.0
2 5 b K |EWNE, K, HlRRRk (PEH, SR OPEFRR—DOH0), 28D (5kg AD), e RS 148 2,061 1,971 4.6 4.4
B % v | 1kg 425 425 0.0 9.5
B o A |TMEXAT, Iy T AV (T7TgAD) 11 146 153 4.6 0.0
AR B |Ek, BAD (kg AY) 148 233 2331 0.0 12.0
i ]\/%ZJJI\XE}TE%;D fé@? TR T AP UNG=—F —F), MCEFREFTF—F[ 0 JN I ISR
A0 o g 100g 323 300 7.7 5.8
AN/ T 50D, A 100g 112 95[ 17.9 -
EE EPE M, m—A 100g 685 694 -1.3 1.0
7S m—Z (BREFRS) 100g 299 282 6.0 5.7
#HoOOMH TuA7—, bbH 100g 145 132] 9.8 5.1
SR A7, JEEATEYD, MAHRAYD (1, 000mLAY) 1A 186 186 0.0 2.8
g — 7 b |[Fr—r3—2 Nk, 400~450gAD 1kg 353 347 1.7 -
&H 0 HEIE, LYAX, 7y 2755 (10f8AD) 13y 247 241 2.5 229
Eo2N A ES 1kg 1,140 1,069 6.6 21.1
¥ Hhg 1kg 670 617 8.6 5.3
[URE S/ A 1kg 321 326] -1.5| -17.7
7= ¥ h & |[FERETEHR 1kg 307 271 13.3] 253
Mo~ b 1kg 442 504 -12.3] -22.6
2 AL, A 1kg 261 261 0.0 -
moo | 1kg 1,774 1,950 -9.0 -
v AT &L, 1f8200~400¢ 1kg 725 641| 13.1] 378
N [T VR RE (EBHIERT R E B BRS) 1kg 279 278] 0.4 -
® A [Frs—7 Fefoh) i, RVEZRAY (1, 000gAY) 1A 303 3001 1.0 4.1
R OBk CRE |BE Oz, iES (400g AD) 1A 307 307 0.0 7.7
roo— % |[wbIva—hr—%, 1#(70~120g) 100g 357 349] 23] -5.1
TAATY = KWN=TTAAZ)—24, S 7 AD(110mLAD) 11 251 265 -5.3] 9.4
Eis B FHIR0IRY, HoWNRY, I 148 508 508] 0.0 2.8
T L (0 Y) [FBROTL, €0 3L, 8~10fEAD, I 137 528 513 2.9 6.0
oY [e—x, 3 100g 215 234 -8.1| 11.4
»n b b T |BA, BRL, I 100g 170 170l 0.0 -
OB OB [RRARECEE, Ry RRRLYAD (500~550mLAY) 1000m1 177 184] -3.8 -
v — b [E, I15AD(350mLAY), 61EAY 1397 1,175] 1,203 -2.3 1.1
B —F AR 10 801 801 0.0 7.8
BB e, 1AHT 627 654 -4.1 2.6
v =L (4 R) |IREBIEICEITAE — AR, A, FIE(500mLAY) 1R 517 517 0.0 3.4

*AERERP S, AEREROT . ERERMIT. BRL PR TRIOEFEETToTRY ., ZRLSMNIFRADOHMEL TOET,
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Y A H | Al 4
RS IINGE
& E! & 1 B ol | @A K
8H 7H % %
%% (R E) [REgs 1375‘f2 3520 3533 o] -2
.om
;T i HAT M, FEOE 252, JEHTED 18L 1,933 1,933 0.0 3.9
LB e RO TBEHREAT, B — M, BEER ERSISRE ] A E2. 8kW, IEFES. 6
L — N S S R A sk " ’ S s Bl 5 e 2 «’A» J_l\ . .
VT AT A W R R E BN 6. T~T. 2, 7 A — H BT X, EERERRE T X 17| 214,056 214,056 0.0] 181
BB 2 v 7T, B, SIER, 30WE 1R 1,008 1,008 0.0 2.9
Ve R U A |ARRBEHR, ek A EHER, WK, 50 A, D (810~1000gAY) 1kg 350 317 10.4 -
A0 VN NI " E=3S = — pA= 0, ZE o/ > R N VE ~
wA RSy s 2|7 /(7\;' GEM) 7 =24, TH100% ) UXTHEIS% L. E-RIT L2 ARH ], (A XIW64 A 3,081 3.081 0.0 24
~70cm, EF'ff&nn
AN T ¥ % > [Hqh, #5100%, ZVk, (FARXIM, & 14 984 990 -0.6 0.4
WON TR, (R, UR) AT A, UROBYEIEDVAHS, (A4 X])23~24cm, Fi#kdh 1¢ 10,584| 10,584 0.0 2.9
KU v 7 Al [FEEEIEKBA, HAD(100mL X 104 AD) 148 1,014 1,014 0.0 3.5
(L RV T TAF LR, JEEREL X, SR, JBPT#E1. 60, UVIvh, Ea (7L —A) 5 "
iR k) P T N A e AN 1= 26,395 24,523 7.6 13.4
BE)#E DY) (LXag—TV), B 79— AREERL 1L 171 173 -1.2 5.6
#OE fF OB (A AEEEENA, BRZRUEEEYS, T AT 7 UM, VA S 1A 9,267| 9,267 0.0 1.1
WRes7 LY, 32VEL #l L7 XNV F a—F — 23N, BV ar kfis /L, LED/ Sy 7 Ak - _

F L E B A PR AR 1< 14 55,263| 57,060 3.1 0.8
ho—=v 7oy a7y, (FMIRVZAT1100%, (PAX)IS~L, F#kdh 14 6,766 6,766 0.0 0.5
/T T = =l B 3 1[m] 1,700 1,700 0.0 0.0

2 B [RAEFEZ b, Y=, Tx T —, Bub), Bk ERAL T EER) 1[m] 3,950 3,950 0.0 2.0

7 U — A kU kR, 40g A0 & 5,400 5,400 0.0 2.9

FEDVAZ:8A~10HIZI 2835, TNLSORHILISU ], X4 A DI IVatad— LR &,
(7E2) W RN 264E 1 H $7 AR ek IE

(FE3) /ST FRk264E1 H $AIE

(JE4) M DHIIT : FRk264FE1 A #afR kI

(JEB) I—2T VR Rk 26471 H AL A B

(V£6) TIE  FRk264E1 H AT ZE 3

(FET) 5 Fk264E 1 A B

(VE8) VEVE FH VLA : k26473 H AR 1E

(FE9) AL : TF-Ak26476 A BN ZS 5

_11_




